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show log messages | refresh 1
monitor traffic interface fxp0.0
monitor start messages

show log messages
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Correct Answer: C

Explanation:
https://www.juniper.net/documentation/en_US/junos/topics/reference/command-
summary/monitor-start.html

QUESTION 120
You issue a "request system zeroize" command. Which statement is correct in this scenario?

A. All data files remain unchanged but all configuration settings returned to factory defaults.

B. All data files are deleted and all configuration settings are returned to factory defaults.

C. All data files are deleted and all configuration settings remain unchanged

D. Disk space is freed by rotating log files and a proposed list of files to be deleted is presented.

Correct Answer: B

QUESTION 121
What are three valid software release designations for the junos OS? (Choose three.)

moowp
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Correct Answer: ABE

QUESTION 122
Refer to the exhibit. A customer reports that they have recently lost connectivity to a remote site
over a shared architecture. Referring to the exhibit, what is the problem?

usorfroutecs show rip statiscics

BIPv2 infor port 320; holddows 1305,
rta Isarned ct= hald down “ppe-

£ Egats decpped rmsps deopped

0 o o a

a

¥ router laarned: 0 ssutes advertised: timesor 1304; update

A. The remote link is down.
B. The remote router has been powered off.
C. The authentication method or key has been changed.
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D. The remote site router has been configured for OSPF.

Correct Answer: C

QUESTION 123
Which two interfaces are considered logical interfaces? (Choose two.)

A. xe-1/1/1
B. ge-2/0/2.0
C. et-5/0/0
D. ael11

Correct Answer: CD

QUESTION 124
What are two benefits realized by the disaggregated Junos? (Choose two.)

A. There is increased flexibility to use different control plane versions.

B. The Junos VM becomes hardware-independent and can be deployed on any hypervisor without
modification.

C. The architecture facilitates programmability through provisioning the control plane, the data path,
and the platform APls.

D. The platform drivers and forwarding engine are removed from the control plane to increase
performance.

Correct Answer: CD

QUESTION 125
Referring to the exhibit. Which next-hop interface will be used to reach the 10.21.14.16
destination?

user@router> show route forwarding-table

routing table: inet

internet:

Destination Type RtRef next hop Type Index NhRef Netif
default user 0 0:32.51.07.89.2 ucst 520 ge-0/0/0.0

default perm 0 rjct 36 1

0.0.0.0/32 perm 0 dscd 34 1

10.21.0.0/16 user 0 192.168.10.100 ucast 535 3 ge-0/0/2.0
10.21.14.0/24 user 0 192.168.11.100 ucast 528 3 ge-0/0/1.0
10.21.14.10/30 user 0 192.168.12.100 ucast 530 3 ge-0/0/3.0

ge-0/0/1.0
ge-0/0/0.0
ge-0/0/3.0
ge-0/0/2.0
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Correct Answer: A
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QUESTION 126
What is the maximum number of rollback files a Junos device can store?

A 5

B. 10
C. 49
D. 50

Correct Answer: D

QUESTION 127
The monitor traffic command provides access to which utility?

A. tcpdump
B. telnet

C. traceroute
D. netstat

Correct Answer: A

QUESTION 128
Referring to the exhibit, which OSPF feature would connect Area 2 to Area 0?

route summarization
equal-cost multipath
virtual link

database synchronization

A
B.
C.
D.

Correct Answer: C

QUESTION 129
While working on a Junos Device, you receive the message shown. In this scenario, what would
you do to stop the shutdown process?
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Issue the clear system commit command

Issue the clear system reboot command

Issue the request system halt in command
Issue the request system power-off in command

A.
B.
C.
D.

Correct Answer: B

QUESTION 130
Which statement is true about PFEs?

A. A PFE receives microcode updates from the RE.

B. A PFE receives layer 4 forwarding tables updates from the RE.
C. A PFE receives hardware status messages from the RE

D. A PFE receives environmental status messages from RE.

Correct Answer: B

QUESTION 131
Click the Exhibit button. Referring to the exhibit, which two statements are correct? (Choose two.)
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userfrouter> show chassis routing-engine
Routing Engine status:

Temperature 0 degrees C / 32 degrees F
CPU temperature 0 degrees C / 32 degrees F
Total memory 931 MB Max 270 MB used ( 29 percent)
Memory utilization 28 percent
5 sec CPU utilization:

User 1 percent

Background 0 percent

Eernel 1 percent

Interrupt 0 percent

Idle G3 percent
1 min CPU utilization:

Uzer 0 percent

Background 0 percent

Kernel 1l percent

Interrupt 0 percent

Idle 99 percent
5 min CPU utilization:

User 0 percent

Background 0 percent

Kernel 1 percent

Interrupt 0 percent

Idle ag percent
15 min CPU utilization:

User 0 percent

Background 0 percent

Kernel 1 percent

Interrupt 0 percent

Idle a4 percent
Model VSRX-S
Serial ID BUILTIN
Start time 2020-01-16 15:21:32 UTC
Uptime 12 days, 4 hours, 33 minutes, 7 seconds
Last reboot reason 0x4000:VJUNOS reboot

The memory utilization is 28%

The memory utilization is 72%

The CPU kernel utilization is 1%

The 15 minute CPU load average is 99%

oow>

Correct Answer: AC

QUESTION 132
Which two conditions must exist in a Junos device for traffic to transit the device to a specific
destination? (Choose two.)

A forwarding table entry for that destination must exist

A routing policy must be in place on the device

A firewall filter must exist to allow traffic to reach that destination
A routing table entry for that destination must exist
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